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	Topic Overview

	Topic
	BAFS Elective Part – Accounting Module – Cost Accounting
A08: Marginal and Absorption Costing 

	Level
	S5 / S6

	Duration
	2 lessons (40 minutes per lesson) 


Learning Objectives:

1. To distinguish the difference between marginal and absorption costing;

2. To explain the profit impacts between marginal and absorption costing in profit calculations; and

3. To state the advantages and disadvantages of a marginal and absorption costing systems.
Overview of Contents:

Lesson 1

Marginal and Absorption Costing

Lesson 2

Arguments for and against Marginal and Absorption Costing

Prior Knowledge:
Student should know:

1. how to create a manufacturing account and income statement in financial accounting;

2. the differences between prime / direct cost, factory overhead / indirect cost, and non-production cost / administrative and selling overheads;

3. the allocation of cost / expenses to production cost and non-production cost; and

4. the calculation of production costs under an absorption costing system.

Resources:
· Topic Overview, Teaching Plan and Answers to Student Worksheet
· PowerPoint Presentation

· Student Worksheet
Suggested Activities
· Case Study

· Group Debate

· Crossword Puzzle

	Lesson 1

	Theme
	Marginal and Absorption Costing

	Duration
	40 minutes


Expected Learning Outcomes:

Upon completion of this lesson, students will be able to:

1.
Define marginal and absorption costing;

2.
Distinguish differences between marginal and absorption costing; 

3.
Prepare profit statements based on a marginal costing and an absorption costing system; and

4.
Explain the difference in profits between marginal and absorption costing profit calculations.

Teaching Sequence and Time Allocation:

	Activities
	Reference
	Time

Allocation

	Part I: Introduction

	· Teacher reviews the definition of fixed and variable costs and asks students to give examples in relation to their family’s monthly expenses.  
· Activity 1 – Case Study

· Teacher asks students to identify fixed and variable costs, production and non-production costs in a   manufacturing account and income statement of Pattie Company and calculate the unit product costs for the month of June Year 8 (Task 1 and 2).

· Teacher informs students of two main accounting streams: financial accounting and cost accounting.  Financial accounting is concerned with the provision of information to external parties.  Cost accounting is concerned with the provision of information to internal parties. A number of costing systems are being applied by organisations to provide relevant information to help managers make better decisions.

· Teacher uses flowchart to introduce the term ‘absorption costing system’ and its mechanism.

· Teacher tells students the relationship between the fixed cost and variable cost with absorption and marginal costing systems.

· Teacher uses flowchart to show the framework of marginal costing system.
· Teacher asks students to prepare the income statement for Pattie Company, using marginal costing method (Task 3)
· Teacher asks students to determine the major effect if marginal costing is used and explains the meaning of contribution.
	PPT#1-19

Student Worksheet

pp.1-7
	15 minutes

	Part II: Content

	· Activity 2 – Case Study

· Students form groups of four or five, read the case concerning of a cyber-firm and complete the tasks.
· Teacher invites students to present their answers.

· Teacher checks answers and draws conclusion for each task.
	PPT #20-32

Student

Worksheet

pp.8-16
	22 minutes

	Part III: Conclusion

	· Teacher concludes lesson by highlighting the differences between marginal and absorption costing.
· Teacher asks students to consider the advantages and disadvantages for marginal and absorption costing for the upcoming lesson. 
	PPT #33-35
	3 minutes


	Lesson 2

	Theme
	Arguments for and against Marginal and Absorption Costing

	Duration
	40 minutes


Expected Learning Outcomes:

Upon completion of this lesson, students will be able to:

1. Explain the advantages and disadvantages of marginal costing;

2. Explain the advantages and disadvantages of absorption costing; and

3. Explain circumstances when suitable to use marginal or absorption costing.

Teaching Sequence and Time Allocation:

	Activities
	Reference
	Time

Allocation

	Part I: Introduction

	· Teacher starts the lesson by introducing the problem faced by Alice, the Managing Director of Bullet Manufacturing Company and asks students to set up a debate on the adoption of a marginal costing system in the company.
	PPT #36
	4 minutes

	Part II: Content

	· Activity 3 – Preparation for the debate

· Students are divided into two groups; one is the affirmative side and the other is the negative side.

· Students are required to discuss within their groups and to develop arguments.

· Each group nominates one representative to take part in the debate.
	PPT #37

Student

Worksheet

pp.17-19
	15 minutes

	· Activity 3 – Debate

· Each representative has 4 minutes to present their group’s views and arguments.

· Teacher decides winner, concludes the debate and introduces suitable circumstances for using marginal and absorption costing.
	PPT #38-45
	12 minutes


	Part III: Conclusion

	· Teacher concludes session by highlighting the advantages of marginal and absorption costing and asks students to choose the preferred costing methods under different circumstances.
· Teacher asks students to complete the crossword puzzle at home to check their understanding on the concepts of marginal and absorption costing. The answers will be distributed during next lesson.
	PPT #46 – 48
Student Worksheets pp.20-22
	9 minutes



Task 1: Cost Classification
	Fixed Cost
	Variable Cost
	Production Cost 
	Non-Production Cost

	
	Direct Materials
	Direct Materials
	

	
	Direct Wages
	Direct Wages
	

	
	Direct Expenses
	Direct Expenses
	

	Factory Manager Salary
	
	Factory Manager Salary
	

	Factory Management Fee
	
	Factory Management Fee
	

	Factory Rent and Rates
	
	Factory Rent and Rates
	

	Factory Fire Insurance
	
	Factory Fire Insurance
	

	
	Factory Labour Insurance
	Factory Labour Insurance
	

	Provision for Depreciation – Machinery
	
	Provision for Depreciation – Machinery
	

	Bank Loan Interest
	
	
	Bank Loan Interest

	Provision for Depreciation – Office Equipment
	
	
	Provision for Depreciation – Office Equipment

	Cleaning Expenses
	
	
	Cleaning Expenses

	Salesman’s Salaries
	
	
	Salesman’s Salaries

	
	Carriage Outwards
	
	Carriage Outwards

	Advertising
	
	
	Advertising

	
	Sales Commission
	
	Sales Commission

	Office Rent and Rates
	
	
	Office Rent and Rates


Task 2: Cost Computation
Total Production Cost: $76,200
Unit Produced: 2,540
Unit Product Cost = Total Production Cost ÷ Unit Produced





= $76,200 ÷ 2,540 units




= $30
Task 3: Income Statement

(a)Unit Selling Price 


= Sales Revenue ÷ No of units sold




  


= $191,475 ÷ (57 + 2,540 – 44)

= $191,475 ÷ 2,553

= $75
Variable Production Cost 

= $(30,600 + 20,800 + 5,000 + 1,800)





  


= $58,200
Closing Stock Value (44 units)
= $58,200 ÷ 2,540 x 44








= $1,008
Variable Non-production Cost
= $(195 + 445)


 





  


= $640
Fixed Production Cost 


= $(9,000 + 500 + 7,000 + 600 + 900)

 





  


= $18,000
Fixed Non-production Cost 

= $(750 + 250 + 159 + 12,643 + 190 + 7,905)




  


= $21,897
Income Statement for the month ending 30 June Year 8 (Marginal Costing)
	
	HK$   
	HK$ 

	Sales
	
	191,475

	Less: Variable Production Cost of Goods Sold 
	
	

	Finished Goods Opening Stock
	1,254
	

	Add: Variable Production Cost
	58,200
	

	
	59,454
	

	Less: Finished Goods Closing Stock
	  1,008
	 58,446

	
	
	133,029

	Less: Variable non-production cost
	
	   640

	Contribution
	
	132,389

	Less: Fixed cost
	
	

	 Production
	18,000
	

	 Non-production
	21,897
	 39,897

	Net profit
	
	92,492


(b)





Task 1: Cost Classification
Examples of fixed cost:

· Cost of setting up business on Yahoo Small Business Platform

· Monthly service fee paid to Yahoo

· Hire charges for heat transfer machines

· Packaging tools and materials

Examples of variable cost:

· T-shirt purchase cost

· Transaction fee paid to Yahoo

· Delivery charges

Task 2: Cost Estimation

	Cost Items
	HK$

	Monthly service fee paid to Yahoo
	Range from HK$160 to HK$320, depends on plans selected

	Hire charges for heat transfer machines (Assuming 2 machines will be hired)
	Machines with more functions are higher, normally below HK$1,000 each

	T-shirt purchase cost
	Range from a few dollars to hundreds, depends on quality and quantity selected

	Transfer paper for laser printer 
	Around HK$6 each

	Packaging tools and materials 
	Range from few dollars to hundreds, depends on materials and packaging

	Printing charges (e.g. cartridge)
	Range from a few dollars to hundreds, depends on cartridge and number of colours 

	Transaction fee paid to Yahoo
	Range from 1% - 2% of the monthly revenue, depends on the plan selected

	Delivery charges
	Range from a few dollars to hundreds, depends on location and delivery point


Task 3: Cost Computation
(a)

	Cost Items
	Details
	Cost Classification under

	
	
	 Fixed or Variable
	 Production or Non-production

	Service fee paid to Yahoo
	$400/month
	Fixed Cost
	Non-production Cost

	Hire charges for 2 heat transfer machines 
	$1,500/ month
	Fixed Cost
	Production Cost

	T-shirt purchase cost
	$15/piece


	Variable Cost
	Production Cost

	Transfer paper 
	$4/sheet


	Variable Cost
	Production Cost

	Printing charges
	$3/sheet


	Variable  Cost
	Production Cost

	Packaging tools & materials 
	$2,000/ month
	Fixed Cost
	Production Cost

	Stationery expenses
	$300/month
	Fixed Cost
	Non-production Cost

	Advertising fee (a fixed amount charged by an advertising firm)
	$1,000/month
	Fixed Cost
	Non-Production Cost

	Transaction fee charged by Yahoo 
	1.5% on sales 
	Variable Cost
	Non-Production Cost

	Delivery charges
	1% on sales 
	Variable Cost
	Non-Production Cost


(b)

Task 4: Profit Computation
(a)
Absorption Costing
	
	1st month
	2nd month
	3rd month
	Total

	
	HK$
	HK$
	HK$
	HK$

	Sales
	21,750.00
	17,400.00
	23,925.00
	63,075.00

	Less: Production cost of sales
	
	
	
	

	Opening stock
	-
	-
	2,900.00
	-

	Production cost
	14,500.00
	14,500.00
	14,500.00
	43,500.00

	Closing stock
	  -     
	(2,900.00)
	(1,450.00)
	(1,450.00)

	
	14,500.00
	11,600.00
	15,950.00
	42,050.00

	Gross profit
	7,250.00
	5,800.00
	7,975.00
	21,025.00

	Less: Non-production cost
	
	
	
	

	 Fixed
	1,700.00
	1,700.00
	1,700.00
	5,100.00

	 Variable
	  543.75
	  435.00
	  598.13
	1,576.88

	Net profit
	5,006.25
	3,665.00
	5676.87
	14,348.12


(b) Marginal Costing
	
	1st month
	2nd month
	3rd month
	Total

	
	HK$
	HK$
	HK$
	HK$

	Sales
	21,750.00
	17,400.00
	23,925.00
	63,075.00

	Less: Variable production cost of sales
	
	
	
	

	Opening stock
	-
	-
	2,200.00
	-

	Variable production cost
	11,000.00
	11,000.00
	11,000.00
	33,000.00

	Closing stock
	  -     
	(2,200.00)
	(1,100.00)
	(1,100.00)

	
	11,000.00
	8,800.00
	12,100.00
	31,900.00

	Variable non-production cost
	  543.75
	  435.00
	  598.13
	1,576.88

	
	11,543.75
	9,235.00
	12,698.13
	33,476.88

	Contribution
	10,206.25
	8,165.00
	11,226.87
	29,598.12

	Less: Fixed cost
	
	
	
	

	 Production
	3,500.00
	3,500.00
	3,500.00
	10,500.00

	 Non-production
	1,700.00
	1,700.00
	1,700.00
	5,100.00

	Net profit
	5,006.25
	2,965.00
	6,026.87
	13,998.12


Task 5: Method Selection 

(a)
	Profit earned under:
	2nd month
	3rd month

	Absorption costing
	$3,665
	$5,676.87

	Marginal costing
	$2,965
	$6,026.87

	Difference
	$700
	($350)


Reasons:

1.
2nd month: profits calculated under absorption costing are higher than marginal costing.  This is because when production exceeds sales, there is an increase in closing stock and a greater portion of the fixed production overhead will be included in the closing stock and carried forward to next period.

2.
3rd month: profits calculated under absorption costing are lower than marginal costing. This is because when sales exceeds production, there will be a decline of closing stock and a greater portion of the fixed production overhead is brought forward as an expenses in the opening inventory.

(b)

Businesses relying on seasonal sales in which production is built up outside the sales season to meet demand, the full amount of fixed overhead will be charged against sales under the marginal costing system.  Then losses will be reported during out-of-season periods, and large profits will be reported when the goods are sold.  
Under absorption costing systems, fixed overheads are deferred and included in the closing inventory valuation, and recorded as expenses only in the period in which the goods are sold.  Losses are therefore unlikely to be reported in the periods when stock is built up.  Therefore, if more T-shirts are sold in summer, absorption costing should be adopted to provide more logical profit calculations. 


Arguments for the proposition (hints: students are required to emphasise the advantages of Marginal Costing and disadvantages of Absorption Costing)
Advantages of Marginal Costing
· Easy to understand – avoids arbitrary allocation of fixed overheads.
· Fixed overhead is excluded from inventory costs – avoids the varying charges per unit and hence distortion in stock valuations.

· Fixed overheads are NOT carried forward in stock valuations – avoids the effect of changes in closing inventory level on profits.

· Contribution and profits are directly driven by sales – shows clearly the effect of sales on cash flows and relationships between cost, price and volume.

· Focuses on controllable business aspects – facilities execution of cost controls.

Disadvantages of Absorption Costing
· More complicated – have to make arbitrary assumptions on apportionment of fixed overheads.

· Fixed overheads are charged to production – unit inventory costs may vary according to production.

· Part of the current year’s fixed overhead is carried forward in closing stock to the following year – management may manipulate profits by building up inventories and hence deferring the fixed overheads to the following years.

· Profit is not a direct function of sales.  There’s a possibility that profit may drop even though sales are up.

· Relationships between cost, price and volume are ignored since the focus is on total cost.

[image: image1]
Arguments against the proposition (hints: students are required to emphasise the advantages of Absorption Costing and disadvantages of Marginal Costing)
Advantages of Absorption Costing
· Fixed costs are absorbed in inventory – ensures all fixed costs will be recovered and met in the long run.

· Recognition of the importance of fixed overheads in production – finished goods and work in progress stock will not be understated, giving a true and fair view of the firm’s financial affairs.
· Compliance with Accounting Standards – is useful for external reporting.

· All costs are variable in the long run – recognises all “long run variable” costs.

· Less profit fluctuations when production remains constant but sales fluctuate.

Disadvantages of Marginal Costing
· It ignores that fixed costs must be recovered in the long run, so if selling price is based only on marginal costs, it’s possible that a positive contribution might NOT be sufficient to cover all fixed costs in the long run.

· Finished goods and work in progress stock will be understated.

· Exclusion of fixed costs from stock valuations does not conform to acceptable accounting practices.

· It fails to recognise that all costs are variable in the long run.

· For firms that have a seasonal sales pattern, profits tend to fluctuate greatly.  Losses are reported during the slack season while huge profits are reported during the peak session.
· It’s not easy to establish the variability of costs, as variable costs are rarely completely variable and fixed cost are rarely completely fixed.

[image: image2]

	
	Marginal  Costing
	Absorption Costing

	Short run decision-making 
	(
	

	Long run decision-making 
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	When sales is subject to high seasonal fluctuations
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	Comparison of  performance of different departments/product lines
	(
	

	External reporting
	
	(
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Answer to Activity 4














































































































Answer to Activity 1





Summary for lesson 2














Answer to Activity 3





Under Marginal Costing:


T-shirt purchases cost					$15


Transfer paper							$ 4


Printing charges						$ 3


Unit product cost						$22





Under Absorption Costing:


T-shirt purchases 						$15


Transfer paper							$ 4


Printing charges						$ 3


Production overhead*					$ 7


Unit product cost						$29





*($1,500 + $2,000) ÷ 500 = $7








Answer to Activity 2





Major Effect:									


Profit calculated under Marginal Costing is higher than that of Absorption Costing.                              


												


												


Reason:										


The closing inventory value calculated under the Absorption Costing method is higher than Marginal Costing, as fixed production costs are treated as product and costs will be carried forward to the next accounting period if unsold.  Therefore, a decrease in the stock levels mean a larger portion of the fixed costs will be charged to the current accounting period under Absorption Costing and the profit calculated will be lower than that of Marginal Costing.
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